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Question Number : 1 Question Id : 5244764301 Display Question Number : Yes Is Question Mandatory : No Calculator :

Chemical Sciences 7th Sep 2022 Shift 1
90

100

No

Yes

None

Cant View
No

Chemical Sciences

52447644
1
Mandatory
100

100

Yes

0

None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Magnesium reacts with nitrogen to form

AL AONO TEB & TISS SO DBIDTDIE?

Options :



Question Number : 2 Question Id : 5244764302 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In beryllium hydride (BeH>) the bonding is described as
BOOTDO X BE (BeHz) S'Q DOGTR) o) DGO BENL)T?

Options :

1. 3c-3e bond
3c-3e_830{‘:}(}

1. ®
2. 3¢—2e—Dbond
3c-2e722030

2.
3. 4¢c—2e—Dbond
4c-2e 20000

3, %
4. 2c-2e—bond
2c-2e 22080

4, %

Question Number : 3 Question Id : 5244764303 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to VSEPR theory the structure of IF7 1s?
VSEPR Q@050 [5G0, IF,0508), es8,y)ed?
Options :

1. Octahedral
eSS o CHO



2. Tetrahedral
. DT O
3. Trigonal pyramidal
. L@ﬁ'ﬁi’)é DB
3.
4. Pentagonal bipyramidal
0L FID BASNBES
4.

Question Number : 4 Question Id : 5244764304 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Heating of diborane with ammonia at 473K gives?

FS5 DS 0 e93rAASr & EEDA73KHE 336 TORNTT DG IERSE?

Options :

1. BaNoHs
1. ®

2. BsNs3Hs
2.

3. BNHs
3. %

4. None of these

D3 56

Question Number : 5 Question Id : 5244764305 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Aryl lithium reacts with CO; to give
DBS ABONO 5°8)S B &3IB & tHB5 SONT QT IIE?
Options :
1) Ketone

8e5°S

1.¢



2) Alcohol

e33O
2. #
3) Carboxylic acid
i} 50383198 e3s00
3.
4) Ether
e B0

Question Number : 6 Question Id : 5244764306 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Tetraethyl lead in petrol acts as
S S BT IBO BE DT D BRNOE?
Options :

1. Oxidizing agent

383506 2850
1%
2. Knocking agent
) DS °O80
2.
3. anti-knocking agent
RDBDFIS 2850
3. ¢
4. reducing agent
. 8 ahEde 52880
4.

Question Number : 7 Question Id : 5244764307 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following metal ions is not colored?

1BOA 5T @IS QO BOM TITHEN?

Options :



1. %

2 It
2.

3 T
3. %

4: 68"
4. %

Question Number : 8 Question Id : 5244764308 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following transition metals exhibits the highest oxidation state?

8O HBHGS o5 DO 0 5871558 Ve A D 1NOE?

Options :

1. Os

1. ¥
2. Pd

2. 8
3. €r

3. ®
4. Mn

4. %

Question Number : 9 Question Id : 5244764309 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is highly basic hydroxide?

§OB ¢3S evehs0eh THE5R)) EOR GOT 2T(T3)E DE?
Options :

o 1. La(OH):

2. Pr(OH);

2. %

3. Nd(OH)s

3. %



4. Lu(OH);

Question Number : 10 Question Id : 5244764310 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Nd** is red in color. the ion with identical color is?

NI e037S D0 BSOS’ &0, A SO0 B0rH) $OR GOT 0IrS
DE?

Options :

1. Gd&*
1. %

2. Ef*
2.9

3. Tm*
3. %

4. Dy**
4. %

Question Number : 11 Question Id : 5244764311 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is a semiconductor?
80 ¢3S @08 %750 E?

Options :

1. As
1. #

2. QGa
2. %

3. Ge
3. ¢

4. In
4 %

Question Number : 12 Question Id : 5244764312 Display Question Number : Yes Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The EAN of Fe in Fe(CO)9 18
Fex(C0)od 00 208 AB0E), (292705 DG DO S?

Options :

1. 36
1.
- 2. 34
3. 46
3. %
L% 4. 54

Question Number : 13 Question Id : 5244764313 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pentadienyl magnesium bromide reacts with FeCl, in presence of ether to yield?
%50 DL 0SS DOLFTONPTS A NONO | DG 2 FeCLTIBS 9O
DB ICRSE?

Options :

1.1:33('[:'21-15)2

1. %
2. 1:133{:C3H5)3
2. %
3. Fe(C2Hs)2
3.
4. None of these
D ) B
4. % as

Question Number : 14 Question Id : 5244764314 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



In octahedral [Fe(CN)s]’~ complex ion the number of electrons present in ta, and eg
orbitals, respectively.
35 2T COS[Fe(CN)s] D05} e905TS TINE) thg sDOCIN e e38)E3S 365°Q)
DO TR DO OOTT?

Options :

I. 6,0
1. ®

2. 5,0
2. ¢

2. & 1
3. %

4. 6.0
4. %

Question Number : 15 Question Id : 5244764315 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The hybridization of [Ni(CN)4]° ion is?
[Ni(CN)4]°Q0c 2330 H0EBEG0?

Options :

1. dsp?
1. ¥

2. d’sp?
2. %

3 i
. sp d

T

L 4. sp

Question Number : 16 Question Id : 5244764316 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following order is correct strength of ligands?

&2 (500 Brod 225 AN OE0NS (800?

Options :



1. CI'<F <04 <NO,y<CN~

1.¢

2. CN—-<(C042 <CI'<F<CN
2. ®

3. 042 <F<CI'<NO, <CN
3. %

4. F<CI'<NOy<CN <C204*

Question Number : 17 Question Id : 5244764317 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The complexes [Cr(H20)sSCN]*" and [Cr(H20)sNCST* is an example of
[Cr(H20)sSCN]2 508030 [Cr(H20)sNCS2 0030 e) B8 Grsrdeaen?
Options :
1. Coordination isomerism

Qs O3 PCI) 3B SO

1. %

2. Polymerisation isomerism

. OOEGCYI50

2.

3. Linkage isomerism
v D08 S F 50

4. Optical isomerism
L C39)ad€d LI B SO

Question Number : 18 Question Id : 5244764318 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Magentic moment of the complexes in zero in:

ON,06b [23%0DE0 DeNS EPH50 EDAD H0IN0 DE?

Options :



1. [Ni(CN)4J*

1.¢¥
2. [Ni(H20)s]*
2. %
3. [NiCL]*
3. %
4. [NiBrs]*
4, %

Question Number : 19 Question Id : 5244764319 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

EDTA 1s
EDTA 2,8
Options :

1. Bi dentate ligand

&3 doed 8 Omros
. %
2. Tri dentate ligand
1€3 cSores )8 Orod
2. %
3. Hexa dentate ligand
» AR doeeed )8 Aol
4. Penta dentate ligand
L DO Hosred 8 Aol

Question Number : 20 Question Id : 5244764320 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Oxidation sate of iron in Hemoglobin?
SEADS S DEQ B0, 818G Ved?

Options :

1. ®



2.

3. +1
3. %

4. +4
4. %

Question Number : 21 Question Id : 5244764321 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is a soft base?

18O S 090 STBS0 DE?

Options :

1. B
1. %

2. O
2. %

3. H,O
3. %
ok (CHs)sP

Question Number : 22 Question Id : 5244764322 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The correct order of increasing stability of the complexes [Cr(en)s]*", [C1Cls]*.
[CrFs]?and [Cr(NH3)s]* ™2

[Cr(en):]*", [CICls]™. [C1Fs s0003) [Cr(NHz)s]* Q0B Do $Fmred
G5 850 ABNEY (Z0dw?

Options :

1. [Cr(en)s]’ < [CrCls]* < [CrFs]’ < [Cr(NH3)s]*"



2. [CrClg] < [Cr(en)s] < [Cr(NH3)s]* "< [C1Fs]*~

2. %

3. [CrCls] < [CrFs]* < [Cr(NH3)s]*" < [Cr(en)s]**
3.¢

4. [CrFs]P < [Cr(NH3)s]?* < [Cr(en)s]* "< [CrCls]*™
4, %

Question Number : 23 Question Id : 5244764323 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the central element present in chlorophyll?

§EDS 5 &0 0 DOITEDY DE?

Options :

1. Mn
1. %

2. Feé
2. %

3. Co
3. %

4. Mg
4.

Question Number : 24 Question Id : 5244764324 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The catalyst used in the hydrogenation of alkenes
29 T EBAEGEASN S GHBTAOT &S IEESN?
Options :
1. ALOs3

1. #

z (P]]_%P:}_%RI]C]
2.

3. K[PtClsC>H,]

3. %



4. Pd/CaCOs

Question Number : 25 Question Id : 5244764325 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following is a Zigler — Natta catalyst?

180 ¢3S 28010 — 5 (B OE5?

Options :

1. RMgX
1. %
2. RaZn
2. %
3. AlR3+ TiCl4
3.¢
4. RLi
4. %

Question Number : 26 Question Id : 5244764326 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following is a nucleophile?

180 ¢3S S s8T3rnEE SHBE0 DE?

Options :

1. Hit"
1. #
, x 2. BFs

1. R
3. %

4. RCOO
4.

Question Number : 27 Question Id : 5244764327 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The correct increasing order of basicity of NHs. CH3;NH,, (CH;),NH. CICH;-NH>
compounds?
NH;. CH;NHz. (CH;3):NH, CICH;-NH» a0 ared 5286 50 081 (8007



Options :
1. (CH_;)gNH = CHs;NH->> NH;> CICH>-NH;

2. CICH:-NH>> NHs> CH3NH» > (CH3z).NH
2.

3. NH;> CH;NH>> {CHj)gNH = CICH>-NH:

3. %

4. CHsNH>> NH3> CICH,>-NH, > (:CH3)2NH

4. %

Question Number : 28 Question Id : 5244764328 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Carbonium ion is formed in

SEINON0 9OITS DO DB ICRSOE?

Options :

1. Homolytic fission

55 DD

2. Heterolytic fission
2065 DD

LW ¥]

Both (1) & (2)
(1) & (2) BOCEY

3. %

4. None of the above

DD

4. %

Question Number : 29 Question Id : 5244764329 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Electrophile involved in the conversion of phenoxide to o-hydroxy benzaldehyde is:
180& T°¢36S” &) OIS DO DI BIR & 0- 338 BOFE TG T 50,
258555 PSS 0eN0E?



Options :

1. :CCl
], %

2. SECHK
2. ®

. el
3. %

4. CCl
4.«

Question Number : 30 Question Id : 5244764330 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Acetaldehyde reacts with HCN to form cyanohydrins and cyanide 1on. This reaction is
called as:

HCN @9£08) @O T8 & tdB5506 SONS 3B DO DR
2905 0 )G YT TIB D ) €90EFB0?

Options :

1. Nucleophilic addition reaction

Srs8O3T S Hogerd Hs

1.
2. Electrophilic addition reaction
O[S DOE HogerS v
2. %
3. Nucleophilic substitution reaction
S8 (HeIT DHed O
3. % )

4. Electrophilic substitution reaction

O[S DO [HDT D B8

Question Number : 31 Question Id : 5244764331 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following hydrocarbons can not be obtained by Sabatier and Senderen’s
reaction?

1BOB S O IFETEIR & H230HE — DRSS THO§ Lo
NKOINTBIN WY,

Options :

1. C.Hs
1. ®

2. CHy
2.

3. GsHg
3. %

4. None of the above

B s 5

4. %

Question Number : 32 Question Id : 5244764332 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Predict the product of the following reaction

1BOE HBSES DB 58057, 5107?
H,C=CH-C=H+HCl— ?

Options :

(e

CHsCH>CHs;

2. CHs-CH(CH3)-CH(CHs)-CH,Cl

2. %

3. H,C=CH-C(Cl)=CH>»
3. ¢

4. HiC-C=C—-CHs;
4.%

Question Number : 33 Question Id : 5244764333 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Two molecules of H3C — CHO on Aldol condensation gives

2SS HODD DB BOCK €e0H© HiC — CHO 0 DB ICSE?

Options :
1. P-hydroxybutyraldehyde
B- 378 s Y

1.
2. a-hydroxybutyraldehyde
a- 3|38 20§T O 6
2. %
3. B-hydroxy-c-methylbutyraldehyde
B- 275 0-a0 TS 20§0T P TTE
3. %
4. None of these
e Ta Boihe
4.%

Question Number : 34 Question Id : 5244764334 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The reducing agent used in Clemmensen reduction reaction is

308D § 08B 25§ S0 EHTFROT §.aHEGe S2BE0 DO?

Options :
1. LiAlH4

1. #

2. Pd/BaSO4

3. Zn—Hg/HCl]
3.¢

4. HoN-NH»

4. %

Question Number : 35 Question Id : 5244764335 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



According to the Bayer’s strain theory the most strained cycloalkane is:
BAHG (DOITD DFOS0 [D5°B0 eHE (HATO0 EORD DS ST AO?
Options :

1. Cyclopentane

L 8 DOV
2. Cyclobutane
2. % —
3. Cycloheptane
8 TS
3. %

4. Cyclopropane

208 (DS
4. =

Question Number : 36 Question Id : 5244764336 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The correct order of aromaticity of five membered heterocyclic compounds thiophene,
furan and pyrrole 1s?

ATV, P30S, TO BT HOAH HeFre) DFs3e3E & 52569
15500 E?

Options :

1. Pyirole < Furan < Thiophene

TS < HPSO°S < HAZPDS

1. %
2. Furan > Pyrrole > Thiophene
e TSOS < DOS < HOITDS
3. Thiophene > Pyrrole > Furan
. DTN < DTS < J°50°S
3. :

4. Furan > Thiophene > Pyrrole
PSO°S > AN < TO

4. %



Question Number : 37 Question Id : 5244764337 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Number of n-electrons present in benzene and anthracene, respectively.
BOES SHOAN S0(H0S S KO T-O[ TV DOV HBIIMT?

Options :

k. 3,10
1. %

2. 4,12
2. %

3. 5. 10
3. ®
L 4. 6.14

Question Number : 38 Question Id : 5244764338 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The oxidation of toluene to benzaldehyde by CrO-Cl» is called as:
SO $S Cro.CL ONE0 &S 985520 TOS BOE 3T 6 T S0 IS5
DNOETE?

Options :

1. Etard reaction
RO B

1.
2. Wurtz reaction
EoleRle];
2. %
3. Reimer — Tiemann reaction
BB — 350 TS5
3, %

4. Cannizaro reaction
T TGS

Question Number : 39 Question Id : 5244764339 Display Question Number : Yes Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Predict the product of the following reaction occurs in presence of AlCIs at 80 °C.
AlCL DsNE.0ES 80 °C 5O 2T (8O tHA5ES DB b )09 07
Ce¢Hs + H:C-(CO)-C1 — ?

Options :

1. Acetic anhydride

38 I BH

1. %

2. Acetophenone

29 DS
2. %
3. Benzoic acid
BoE 08 @00
3 0%
4. None of the above
B Ba) 555
4, %

Question Number : 40 Question Id : 5244764340 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The reactivity of halogen atom 1s maximum in:
IS BS 905652868 0O (O He30%50?
Options :

1. Isopropyl chloride
D (NS STE

2. Propyl bromide
10 (S NG

2. %

(3]

Isopropyl bromide
O (O [T DB

3.



4. Propyl chloride
FRSED6

Question Number : 41 Question Id : 5244764341 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following can undergo haloform reaction?

B0 %3S 2SS B0 385 STOLNSE DE?

Options :
L. - HECHO)
1. %
2. CHCE
2. %
3. CHsCl
3. %

4. CH3COCH3
4.¢

Question Number : 42 Question Id : 5244764342 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Conversion of (—)2-bromo octane to (+)2-bromo octanol through SN? pathway in
presence of aq. KOH is an example of:

230 KOH Os0E.0 SN2 907§ DGPed0 t°50° (-)2-(25 a3 €550 O30 $50
(D)2- 153 &SSO T DBICB0 TG S5 Gen?

Options :
1. Walden inversion
. B DS (Bod
1. -
2. Bayer Strain
i} 23058 2208 (HASFO0
2.

(8]

Fries rearrangement

(2R DSBS00E 555



4. None of these

Fors il

Question Number : 43 Question Id : 5244764343 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The reactivity of alkyl halides follows the order:

&SB)O BB © HOSeh 8T |50:

Options :

1. RF>RCl>RBr>RI

1. ®

2. RF>RBr>RI>RC(Cl
2. %

3. RI>RBr>RCI>RF
3.¢

4. RC1>RF>RBr>RI

4.%

Question Number : 44 Question Id : 5244764344 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Benzene reacts with acetyl chloride in presence of anhydrous AICI; to produce
acetophenone. This reaction is called as:

B0ES DIBO §DE & 97| Q AlCL HsNE 0SS 1385 SO DTS
OO IG5 N0ETH?

Options :

1. Wolf-Kishner reduction
S )-8 0 00880

1. ®

2. Friedel-Craft acylation
(DITO-5°9 DB
2.

Reimer-Tiemen reaction

B0 — 3508 985

fad



4. Birch reduction

200 Eahgdeao

Question Number : 45 Question Id : 5244764345 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The increasing order of acidity for the following carboxylic acids
&2 (808 52078 )5 e3> TWNEY €351 O 5276 @387 Ee00?
(1) CFsCOOH. (1) CCI,HCOOH, (111) CF:HCOOH. (iv) CH:COOH

Options :

1. ()= (i) > (i) > (iv)

2. (i) > (i) > (iii) > (iv)

2. %

3. (1) > (i) > (1) = (iv)
3. %

4. (1) = (11) = (1) > (1v)
4.

Question Number : 46 Question Id : 5244764346 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Predict the product of the following reaction of benzoic acid:
(B0 B85S DB D FS0?

COOH

Conc. H,50,
—_—
Conc. HNO;

Options :

1. no,  (p-nitrobenzoic acid)



COOH

2 O (m-nitrobenzoic acid)
2.¢
COOH
NO,
. 3. (o-nitrobenzoic acid)
3,
4. None of the above
-, —5 ol
L 2 Do) 5%

Question Number : 47 Question Id : 5244764347 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Kolbe reaction phenol undergoes carbonation in presence of a base to form?

B D85S DS 526 D600 SEITIS O DBYESE?

Options :
1. Benzoic acid
BoS 008 e300
1%
2. Terphthalic acid
_ ©b @d8 eso
2.
3. Salicylic acid
- POVEE e8:D0
4. Phthalic acid
D8 &0
4. %

Question Number : 48 Question Id : 5244764348 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct match of the following groups
508 (570 O 236808008

a.

Options :

1. ®

2.¥

3. ®

L.

(¥

Group — A Group - B
Huns — Diecker reaction 1. Methylene group incorporation in RCOOH
S — 388 B RCOOH €5 DS (57D tT"D)0TT H§
Schmidt reaction ii. production of Alkyl halides from salts of RCOOH
IR G RCOOH e NOG 98O F*SE& en
Andt — Eistert reaction 111. Conversion of benzoyl chloride to benza ldeh}fde
@35, — 00 s BoEanS §BE H0G BoE) oy
Rosenmund reduction 1v. Production of primary amines from RCOOH

ER SN0& EaDEde0  omEIOE e300 DO 500 eI e
a-i, b-ii, c-iii, d-iv
a-i1. b-iv, c-1. d-i11
a-ii1, b-1, c-11, d-1v

a-1v, b-ii, c-111, d-1

Question Number : 49 Question Id : 5244764349 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Methyl butanoate upon reduction with LiAIH4 produces:

DTS 20§ THED LiAIH:s D00 &S § aHEB0 OO B )BHt0SE?

Options :

]

2-butanol

2-20583 5O



EAV{ATN D)
2. %
3. 1l-butanol
1-2050SS
3.
4. None of the above
S )
4, %

Question Number : 50 Question Id : 5244764350 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Crotonoic and 1so-crotonoic acids are:

EESS®E DO DA-FETSHE e3s37e0 €002

Options :
1. Chain 1somers
- FHODO T3 §5°N
2. Geometrical isomers
232500 AP YF S5
2.
3. Functional isomers
EAVOWEVART ISV
3, %

4. Optical 1somers

CIED Al §5°EN

Question Number : 51 Question Id : 5244764351 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Isoprene is
DD NID?

Options :

1. 3-methyl-1.2-butadiene
3-a0BO-1.2-205EFTFONTD



1

2-methyl-1.3-butadiene

2-DPD-1,2-20 5T
2.

LS
Lad
1
5
=
=y
7
f—
Y2
=3
=
jar]
=L
famn
e
"

4. 2-chloro-1.3-butadiene
2-8°6%-1.3-205 700D

Question Number : 52 Question Id : 5244764352 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Furan reacts with ammonia in the presence of alumina at 400°C to give

S°SOPS 400 ° C HE @R DNE 0SS e37O5T IS5 209

QAVOA.
Options :
1. Pyridine
. DOBS
2. Furfural
N0 PSTO
2. %
3. Pyrrole
DO
3. ¥ -

4. Furoic acid

DSETONE €3:D0

Question Number : 53 Question Id : 5244764353 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Oxidation of cyclohexanol with nitrous acid in the presence of SeO» catalyst gives
DT TTEISS 90 TN &3D0 & Se0r &(BIBF0 DNF 06 OS5
QO DO TSE?

Options :



1. Succinic acid

D8NS @0
1. %
2. Adipic acid
AN o0
2.9 iz
3. Oxalic acid
357 )8 3600
3. %
4. Malonic acid
DT e300
4, %

Question Number : 54 Question Id : 5244764354 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The dipole moment of benzene is

230280 TBWEY B 559 [23%0E0 D0ed?
Options :

1. Zero
QO

2. less than p-dichlorobenzene

p-BS & BOES v %028
2. %
3. greater than p-dichlorobenzene
p-38 & BoES o7 DED
3. %
4. equal to that of chlorobenzene
p-BS & B0ES & HDAFS0
4.%

Question Number : 55 Question Id : 5244764355 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Number of possible isomers with the molecular formula C4HsCl 1s
9L OF€50 C4HoCl DB HOTINE P9 F 5570 DOWS?

Options :
z
x L3
2. 4
2. %
sv 3.5
4. 6
4. %

Question Number : 56 Question Id : 5244764356 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The hybridization state of cartbon atoms in the product formed by the reaction of ethyl
chloride with aqueous KOH i1s

DO $TE 26 KOH & D30T &5¢6)15)0 &S 528)Q By, H0E0E30?

Options :

- 1. sp
") TP A
2% *
- 3
S
3. P
4. spid
4. %

Question Number : 57 Question Id : 5244764357 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arrange the following groups based on priority sequence rules for RS notation

R. S DOZTHTH0 [D5°H0 (8OO 89 D |olrerdse5° |80 0:

Options :
1. I=Br>OH>SH



2

I=Br>=SH=0H
2.9

Br=I=OH>SH

tad

4. Br=OH>=SH>I

Question Number : 58 Question Id : 5244764358 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Phenols are highly acidic compared to alcohols due to

DD NI €332 IS © & FE) I DB €300 eb L0 TSI
EODRGOETON?

Options :
1. the higher molecular mass of phenols

DO ) B0 e0HE 902730 EOA SOBGB0 HOD

2. the stronger hydrogen bonds in phenols

DG S DO IFEBS 20600 FOA 0RO HOOD

2. %

alkoxide 1on is a strong conjugate base

€907 BIB 01 €SO 22O DO} STE0

[¥¥]

3. %

4. phenoxide ion 1s resonance stabilized

D"ENB @O @I BAIS) T°50° OEB0IDEAOE

4. ¥

Question Number : 59 Question Id : 5244764359 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Reduction of acetone in the presence of NaBH4 gives

DT NaBHs Ds0E.06S E oHEBea0 O B IC0IE?
Options :
1. l-propanol
1D

1. %



2. 2-propanol

v 24FDSS
3. Propene
-5, =
e BDS
4. n-propane
n-[&F DR
4. % i

Question Number : 60 Question Id : 5244764360 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Synthesis of alkenes from aldehydes or ketones is known as
336 e B §63°S e 0B SOLS €0 DB IG5 DeDOEFB?
Options :

1. Wurtz reaction

e &5 55
2. Perkin reaction
00 TH8s
2. %
3. Wittig reaction
DE3F s
3.
4. Mannich reaction
. P8 w8

Question Number : 61 Question Id : 5244764361 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Organolithium reagents behaves as

£S5 OROONO EZED o) DARD D 527V EOR G0Eron?

Options :



1. Electrophile and acid
DO SO HOASH essD0o

1 ®
2. Free radical
. VI (a3
3. Nucleophile and base
v SrsSBr O HBAR B0
4. None of these
2) DT
4. % —

Question Number : 62 Question Id : 5244764362 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The electrocyclic reaction of hexa-trienes 1s
TS LIOOTS TBNEY OIS SHOOD tIBS @SIE?
Options :
1. Conrotatory
5% (260N 0

1%
2. Disrotatory
(33 (226080
2.¥ e
3. Conrotatory or disrotatory depending on the temperature at which
reaction is carried out
2988 sal(fied 283 2N (206069500 BE® BF (22NEINOM
5030t
3. %
4. Cannot be predicted
QGONOTH AW
4.%

Question Number : 63 Question Id : 5244764363 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which 1s not true about determinate errors?
1808 %365 1Es02E) Earedd HoR0H0D) BIE?
Options :

1. They have definite source which can be identified.

E38 §0 B RNS PO B0 GOLNE DO ENFTIITI )N

2. Umidirectional with respect to true value

23 DENHDZ H0OHOW D& HFE52E50

2. %
3. not reproducible
v )TN0 TN

4. None of these

0 I 5

4. %

Question Number : 64 Question Id : 5244764364 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the reason for the occurrence of systematic errors in an instrument?

2,8 HOZGB0 ¢ (850208 Earen EoiEE B0 D0e3?

Options :

1. not used for a long time
oeer Geren 0@ GOB0 HO

2. Highly used

- oS0 A0 D
3. manufacturing fault
HOEB0 SAFOS )50
3. %

4. delivery fault
HOEB0 TON €550

4. %



Question Number : 65 Question Id : 5244764365 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Name the reaction used to shorten the open chain forms of monosaccharides?

5,08 e EOAS IS PEDE €0 &0 P S0O0T PR DeD0EFTR?

Options :

1. Kiliani — Fischer method

8OO — DHE DO

2. Ruff’s degradation

39 8380

-

3. Ekenstein rearrangement

DB S RSB0

4. None of the above
0 D) 5

Question Number : 66 Question Id : 5244764366 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following notations is not used to distinguish between pairs of
enantiomers?

1BOB TS &) DOFTHITHE0 &0 DTPQTTDND € & B3¢ DS
S DTTHDEIE?

Options :
l1.Rand S
R OO S
1. ®
2.Eand Z
E O Z
2.
3.+ and -
+ 20005 —
3. %
4. Dand L
D 00ai» L

4 %



Question Number : 67 Question Id : 5244764367 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lipases are enzymes which hydrolyze
TRV SO OB €D 3¢3Q) IFE B BRI ON?

Options :

1. Fat into fatty acid
15%69) 5 &0 3¢S €363 TP

2. Protein into amino acid

18¢3S &0 @S’ @3 1P
2. %
3. Starch mto Maltose
D5 ) SFS D P
3. % ’ =
4. Casein into paracasein
S0 A PT° TR T
4.%

Question Number : 68 Question Id : 5244764368 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When formaldehye and KOH are heated we get

0" 26 B0 KOH & £ 3 WO DBIISE?

Options :

1. Acetylene

DODS
1. ®
2. Methane
VAN
2. %
3. methyl alcohol
» PO TS

4. ethyl formate
VBO VIO



Question Number : 69 Question Id : 5244764369 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Metal present in Tollens reagent?

EBS) 35S Ko S8ro?

Options :

L. Fe
1. %

2. Ni
2. %

3 o
3.¢ 7 Ag
4% 4. Cu

Question Number : 70 Question Id : 5244764370 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kiliani — Fischer method is used for?

EOAF - DAD D3 TS GHBFAOTIDRBA0E?

Options :

1. Conversion of arabinose to D-glucose and D-Mannose

93D R & D-PETR sDOOIM D-3°S w0 T 3BTRS

1.¢
2. Conversion of D-glucose to arabinose
,w  D-IFER & @8HI D S @8
3. Conversion of (-) fructose to (+) glucose
. 0O DED & () HPE°D 1 630°8 )c3°§

4. None of the above

) Do) 5

Question Number : 71 Question Id : 5244764371 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The condensed phase rule used for Pb-Ag system 1s

Pb-Ag 590 O30E) DO [alPHY)° DO 0?



Options :

1. E=l =P
1.v

2. F=C+P—1

4. F+C=C+2

Question Number : 72 Question Id : 5244764372 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The charge carried by one mole of electrons 1s?
2,8 Trd O[T e $DAS 83407
Options :
1. 1 Faraday
R4 ]ﬁ%@

2. 1 Coloumb
_— 1 §orexnro2d

3. 1000 Coloumb
L% 1000 Srexrod
4. 1000 Faraday
. 1000 o3

Question Number : 73 Question Id : 5244764373 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ST unit of specific conductance

QO (058 TWE, SI ALFAED

Options :

1. Ohm!cm?

2. Mho™! cm™



3. Mho!'m™

4. Siemens
4.

Question Number : 74 Question Id

: 5244764374 Display Question Number : Yes Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The relationship between

Ah and AE 1s;

Ah D03 AE aDQ§ Q020060

Options :

1 1. Ah=nFE
2. Ah=-nFE
2. ¢
3. E=nFAh
3%

4. Ahxn=EF

4. %

Question Number : 75 Question Id

: 5244764375 Display Question Number : Yes Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The calomel in calomel electrode stands for?

S DS IOIEES' ES DS 00ty

Options :
1. Hg

1. %

2. HeCl

2. %
" 3. K€l
4. HegxCly
4. ;

Question Number : 76 Question Id

: 5244764376 Display Question Number : Yes Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Joule — Thomson coefficient (pyr) for an ideal gas is:
3¢58) 3°050Y TR0 837 - TPNI® ENODOE] (WIT) .

Options :

1. Negative

e DSErORIO
2. Positive
eoNETe)
2. %
3. Zero
w,
2 v e’ )
4. Infinite
95030
4, %

Question Number : 77 Question Id : 5244764377 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following process occurs at anode in a cell?

VS ABESES §0B 7¢36T D |HIEADH BEHA0E?

Options :
1. Fe*" —Fe*"
1. ¢

- 2. Cuyt—Cu

3. Anglg —5 2 Hg +CI2

4. AgCl— Ag+1/2 Cl

Question Number : 78 Question Id : 5244764378 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The units of second order rate constant are:

BOCED 183708 TED T0E0 ABNE) ARTFVED

Options :

1. MoleLit!s™!

[ %

2. Mole? Lit! S
2 %

3. Lit Mole S™!
3. %

4. Lit Mole™ §71
4.

Question Number : 79 Question Id : 5244764379 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Solutions having the same osmotic pressure are called
2.8 |G 2,33 SR &) (FIET) TN e90EFTH?.

Options :

1. Isotonic solutions

. DTS |TesdeTen
2. Isochoric solutions
L x  OITOSE (orderen
3. Hypertonic solutions
Le QR |deTen
4. Dilute solutions
. 0TI [DIETEN

Question Number : 80 Question Id : 5244764380 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The law which relates to the solubility of gas to its pressure is called:

SPO3N |TPIBONBE TR DTV D000 TIET Y ACDNETR),
O @90ETHD?

Options :
1. Henry’s law
2 AODVO
1.+
2. Hess law
) SN0
2. %
3. Raoult’s law
) T QA0
3
4. Ostwald’s law
L 2 £ OO

Question Number : 81 Question Id : 5244764381 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is Freundlish adsorption isotherm?

8007¢3S” | D0EOR e9HF* A DD DE?

Options :
"
1. —=K.p"

m
1. %

3 =K. @>D)

m
2.
. m
3. —=K.p
X
3. %
1
4, —=K.p"
4% m.x p

Question Number : 82 Question Id : 5244764382 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The quantum yield for the photo chemical reaction of H> and Cl» to form HC1 is?
H, S0OGD Cl %S ZREO BOITE.S 0°20° HCl DB )CHETVE 5° 5050
&M DOoes?

Options :

1: 1

1. %

2. Slighltly more than one

2.5¢3 50T 500 %)
2. %
3. Extremely high
TSP ISV
3. ¢
4. <1
4.%

Question Number : 83 Question Id : 5244764383 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A= values of CHsCOONa. HC1 and NaCl at 25 °C are 91.0. 426 and 126 ohm '.cm®.eq !
respectively. What is the Acc value of weak CH3COOH?

25 °C $5¢) CH:COONa, HCI 500050 NaCl G30E), Ace DeNen SO 91.0, 426
L0005 126 ohm™.cm?.eq . 2)€aFIS CH;COOH A3NEY Ao DN O eh?

Options :

1. 644 ohm™.cm’eq’
1%

2. 544 ohm™'.cm’eq’’

2. %

3. 491 ohm™.cm’eq™?
3. %

4. 391 ohm™.cm’eq!
4.

Question Number : 84 Question Id : 5244764384 Display Question Number : Yes Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the Bragg’s equation for diffraction of X-rays ‘n’ represents
X-85e7°© DSBTE (250 DEB0S o JEDN0H,
Options :

1. aquantum number
208 522080 DOW

1. ®

2. the order of reflection

120€32)02)0 TWEY, (§N0
2.
3. the number of moles
i} SPO © DOWDS
3

4. Nome of the above

i) 505

Question Number : 85 Question Id : 5244764385 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Bravais lattice are of

(2 o ePESR Bseen.
Options :
1. 7 types
7 O5PEN
1. #
2. 28 types
28 O5°Pen
2. %
3. 14 types
Lo 14 A5een
4. 21 types
21 85°eD

4.%



Question Number : 86 Question Id : 5244764386 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is an “Intensive property” of a system?

806 ¢3S DA TRVEY, “ROTIAID (27D DE?

Options :

1. AV
1. #

2. AG
2. %

3. AH
3. %

4 €
4.9 .

Question Number : 87 Question Id : 5244764387 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Triple point of water is observed at?
A3 (BE 0 D86 (1DIOTIDBOE?

Options :

1. 263.1K. 4.58 mm Hg

1. %

2. 273.16 K. 458 mm Hg
2. =

3. 283.16 K. 458 mun Hg
3. %

4. 273.16 K. 1.58 mm Hg
4. %

Question Number : 88 Question Id : 5244764388 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time :

The defect which 1s formed due to the removal of equal number of cations and anions
from the crystal lattice?
1BDS 73D OB DTS DO TRIAITIEN NBOH TSI

SOROTIB0 HO BT S DO

Options :



1. Frenkel defect

e D08S &0
2. Schottky defect
. Sre3) S0
3. Mass defect
53R S°H0
3%
4. Non-stoichiometric defect
- ONETBr35 ¢S Ho
4, %

Question Number : 89 Question Id : 5244764389 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The behavior of a real gas approaches ideal behavior at

D23 PR TBDEY (IS & DBVAOES” @3¢50 (DIBSE
DRE0EN0E?

Options :

1. low temperature, low pressure

807,85 S8 |(1¢5. @9 DCAS0

2. high temperature, high pressure

oY | ieh, 9HE D0

2. %
3. low temperature, high pressure
50703 58| ieh, 9 OE NS0
3. %
4. high temperature, low pressure
L, oS GEliS, eo) B30

Question Number : 90 Question Id : 5244764390 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Entropy of an ideal gas depends upon its

e3¢5¢5) PA50Y) TNEY DOES D %R D eSTTBNE E0EN0O.
Options :
1. Pressure
2. Temperature
- cs&l|fed
3. both1 and 2
1 O3 2 BOT
3. ¢
4. neither 1 and 2
\ 1 DO 2 526D

Question Number : 91 Question Id : 5244764391 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The equation for the evaluation of f§ in Maxwell Boltzmann distribution law is
SFEISS S’ _S57S H0NES H)0eS B A0, Sorersoddo §do
HDAEBEI0

Options :

1. p=1/kT

1.¢

2. p=-1/kT

2. %

3. B=kT

3. %

4. p=2/Kt

Question Number : 92 Question Id : 5244764392 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



In a chemical reaction A(s) +B(g) = C(g). the total pressure at equilibrium is 6 atm.
The value of equilibrium constant is

A(S) +B(2) = C(g) Sarafdd TS, DS @50 HC o S0 6 atm.
DNEO§ DT°0E0 )N

Options :

1.

[B~]

2
o

5]
[

Question Number : 93 Question Id : 5244764393 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the equation V = 1RT. “1” 1s known as

TV = iRT HEB06S . “i7 D 90T,

Options :

1. Equilibrium constant
QNS 5 VO*0E0

1. ®
2. Vant Hoffs factor
Lo 08 D BwE) s°680
3. (as constant
SO0 Vo080
3. # =

4. Dissociation constant

L% D03 Vo080

Question Number : 94 Question Id : 5244764394 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time :



The standard deviation of speed (c¢) for Maxwell’s distribution satisfies the relation
S8 YBO HONEE Ji50 A, (ArBE DIODO (o¢)
DODOG), DO YD,

Options :

1. oc T
1. %

2. oc «NT
2.9

3. oc x1/T
3. %

4. oc o INT
4. %

Question Number : 95 Question Id : 5244764395 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which equation represents the relationship between free energy and EMF?
589)) 48 s08050 EMF 365§ D020, o DadEB0 Srdda)od?

Options :

1. Maxwell equation

J7BILO HDEBE0

2. Hittorf equation

L ¢35 ) DEGE0
3. Gibbs — Helmholtz equation
Lo D) - TQ, DB

4. None of the above

N3 5N

Question Number : 96 Question Id : 5244764396 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The standard electrode potential E° at a fixed temperature and in a given medium is
dependent on

DS GEL S 5K DO VDS SN0 |377edE DO S HOzydses
(E%) DA STSIER GOLNOR?.

Options :
1. only the electrode composition
. DOSE ErA) AF(had
2. the electrode composition and the extent of the reaction
DO TG Erd0)) DO (HEBTHBS TwEy HOG
2. %
3. the extent of the electrode reaction only
i DO SE D3NS B3EY HOE SF(edSD
3.
4. the electrode reaction and the electrode composition
) DOSE DE3IBS B0 DO SE St
4.

Question Number : 97 Question Id : 5244764397 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the conductometric titration of HCI and NaOH. what 1s the change in solution
conductivity after the addition of NaOH beyond equivalence point?

HC1 s9005) NaOH G302 S0¢55 a0(¢€35 BB . e3P0
SPONOESE O NaOH S0 HT°5eh HOT)S %FEheS 3¢
Jae3s

Options :

1. Increases

2DMNA0O

2. Remains same
> G0N0

Decreases

SO

(¥

3. %



4. None of the above

a3 570

Question Number : 98 Question Id : 5244764398 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Heat of neutralization of HCN by NaOH 1s -12.13kJ/mol. What 1s the value of AH®
ionization of HCN?

NaOH ¢3°$0° HCN T30}, 56308560 &R0 -12.13kI/mol €901 HON 330E)
90NREGBED 52O (AHY) DOE5?.

Options :

1. -43.77kJ/mol

2. +43.77kJ/mol
2.9

3. -68.03kJ/mol

3. %

4. +68.03kJ/mol

4. %

Question Number : 99 Question Id : 5244764399 Display Question Number : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Raoult’s law is used to:

TO OO TS5 BATPAOTIDRER0E.

Options :

1. Determine vapor pressure of non-ideal solutions

€3¢530 5°Q) | T%IET €3O DCHTR)), DPONOTITE

2. Determine heat of vaporization of non-ideal solutions
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3. Determine vapor pressure of ideal solution with non-volatile solutes
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4. None of these
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The law which states that for each photon of light absorbed by the system only
one molecule is activated for subsequent reaction is called:
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Options :

1. Grothus-Drapper law
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2. Arrehenius law
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3. Hess law
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4. Stark-Einstein’s law
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